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B.A./B.Sc. (General) 6™ Semester
(2040)
POLITICAL SCIENCE (In all Mediums)

Paper—International Politics : Theory and Practice

jote: Attempt 50% of Total Questions of Q1.1‘est'i0n Paper_. Time: 2 Hours
All will carry equal marks. Fraction will be lower digit.
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(2) Attempt one question of 18 marks from each unit.

(3) For private candidates who have not been assessed
earlier for internal assessment, the marks secured by
them in theory paper will proportionately be increased
to maximum marks of the paper in lieu of internal
assessment.

1. Attempt any nine questions in 10-20 words each :
(1) Why is the study of International Politics important ?

(1))  How are International Politics and International
Relations co-related ?

(i)  Give four arguments against Idealist Approach.
(iv) ~ What is Morgenthau's understanding of Realism ?
(v) How National Power is based on geography ?

(vi)  Write down three limitations of National Power.
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(vii)

(vii1)

(ix)

)
(xi)
(xii)
(xiii)
(xiv)

(xv)

Write down two basic assumptions of Collective
Security.

What is the purpose of Collective Security ?
Why a unipolar world emerged after the end of Cold

‘War ?

What do you mean by a multi-polar world ?

What is a World Order ?

What is multi-polar World Order ?

What was th.c purpose of creating SAARC ?

Explain Brexit.

What is New International Economic Order ?

UNIT—I

Define International Politics. Discuss its scope and utility.

"[dealist approach in International Politics emphasises on

dependence upon moral values and the development of

international institutions and international law." Discuss main
features of Idealist Approach in the light of the above statement.

UNIT—II

"National Power is combination of Military Power, Economic

Power and Psychological Power". Comment.

How the UN Security Council deals with the question of
Collective Security ?
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UNIT—III

6. What do you mean by Multi-Polar World ? Discuss the reasons
of its emergence after the end of Cold War.

7. Discuss the prominent features of Emerging World Order.
UNIT—IV

8. Discuss the problems SAARC has faced throughout its
existence. How in your view can these problems be solved ?

9. "Demand for New International Economic Order comes out
of prevailing economic inequalities among the nations".
Discuss.
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